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QUESTION 1

A network is running VTPv2. After verifying all VTP settings, the network engineer notices that the new switch is not
receiving the list of VLANs from the server. Which action resolves this problem?

A. Reload the new switch.

B. Restart the VTP process on the new switch.
C. Reload the VTP server.

D. Verify connected trunk ports.

Correct Answer: D

QUESTION 2

Which portion of AAA looks at what a user has access to?
A. authorization

B. authentication

C. accounting

D. auditing

Correct Answer: A

QUESTION 3

Refer to the exhibit.
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Which configuration ensures that the Cisco Discovery Protocol packet update frequency sent from DSW1 to ALS1 is
half of the default value?

A. DSW1(config)#cdp timer 90

B. DSW1(config-ify#cdp holdtime 60
C. DSW1(config)#cdp timer 30

D. DSW1(config)#cdp holdtime 90
E. DSW1(config-ify#cdp holdtime 30
F. DSW1(config-if)#cdp timer 60

Correct Answer: C

QUESTION 4

Refer to the exhibit.
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Switch# Show ruon
interface FastEthernet0/13

spanning-tree cost 1000
1

interface FastEther 4

spanning-tree cust 0
1

interface F ernet(/15
spanl:un a cost 1000

int Q@FaﬂEtherneﬂ]ﬂﬂ

ning-tree cost 2
1

interface FastEthernet0/21
spanning-tree cost 1 2

All ports are members of VLAN 10. Considering the default cost of upstream bridges to the root bridge is equal, which
option will be the new root port for VLAN 10?

A. interface f0/13
B. interface f0/14
C. interface f0/15
D. interface f0/21

Correct Answer: D

QUESTION 5

Which two protocols can be automatically negotiated between switches for trunking? (Choose two.)
A. PPP

B. DTP

C.ISL

D. HDLC

E. DLCI

F.DOT1Q

Correct Answer: CF
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QUESTION 6

While troubleshooting a network outage, a network engineer discovered an unusually high level of broadcast traffic
coming from one of the switch interfaces. Which option decreases consumption of bandwidth used by broadcast traffic?

A. storm control

B. SDM routing

C. Cisco I0OS parser

D. integrated routing and bridging
E. Dynamic ARP Inspection

Correct Answer: A

QUESTION 7

Which VTP mode is needed to configure an extended VLAN, when a switch is configured to use VTP versions 1 or 2?
A. transparent

B. client

C. server

D. Extended VLANSs are only supported in version 3 and not in versions 1 or 2.

Correct Answer: D

QUESTION 8

If a network engineer applies the command mac-address-table notification mac-move on a Cisco switch port, when is a
syslog message generated?

A. A MAC address or host moves between different switch ports.

B. A new MAC address is added to the content-addressable memory.

C. A new MAC address is removed from the content-addressable memory.

D. More than 64 MAC addresses are added to the content-addressable memory.

Correct Answer: A

QUESTION 9

Which First Hop Redundancy Protocol is an IEEE Standard?
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A. GLBP

B. HSRP
C. VRRP
D. OSPF

Correct Answer: C

QUESTION 10

Refer to the exhibit.

Switchl (config)#vlan 10 >

VTP vlan configuration not allow eﬂfﬁen deviceisin CLIENT mode
Switchl#show interfaces trunk Bl
Switch1# plin

The users in an engineering department that connect to the same access switch cannot access the network. The
network engineer found that the engineering VLAN is missing from the database. Which action resolves this problem?

A. Disable VTP pruning and disable 802.1q.

B. Update the VTP revision number.

C. Change VTP mode to server and enable 802.1g.
D. Enable VTP pruning and disable 802.1q.

Correct Answer: C

QUESTION 11

On which layer does IP source guard provide filtering to prevent a malicious host from impersonating the IP address of a
legitimate host?

A. Layer 1
B. Layer 2
C. Layer 3
D. Layer 7

Correct Answer: B
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QUESTION 12

On which interface can port security be configured?
A. static trunk ports

B. destination port for SPAN

C. EtherChannel port group

D. dynamic access point

Correct Answer: A

QUESTION 13

A network engineer must set the load balance method on an existing port channel. Which action must be done to apply
a new load balancing method?

A. Configure the new load balancing method using port-channel load-balance.
B. Adjust the switch SDM back to "default".

C. Ensure that IP CEF is enabled globally to support all load balancing methods.
D. Upgrade the PFC to support the latest load balancing methods.

Correct Answer: A

QUESTION 14

Refer to the exhibit.

Dis ion Switch

Sniffer 6"

Access Switch
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A network engineer wants to analyze all incoming and outgoing packets for an interface that is connected to an access
switch. Which three items must be configured to mirror traffic to a packet sniffer that is connected to the distribution
switch? (Choose three.)

A. A monitor session on the distribution switch with a physical interface as the source and the remote SPAN VLAN as
the destination

B. A remote SPAN VLAN on the distribution and access layer switch

C. A monitor session on the access switch with a physical interface source and the remote SPAN VLAN as the
destination

D. A monitor session on the distribution switch with a remote SPAN VLAN as the source and physical interface as the
destination

E. A monitor session on the access switch with a remote SPAN VLAN source and the physical interface as the
destination

F. A monitor session on the distribution switch with a physical interface as the source and a physical interface as the
destination

Correct Answer: BCD

QUESTION 15
Which statement describes what happens when a switch enters dual active recovery mode?
A. The switch shuts down and waits for the VSL link to be restored before sending traffic.

B. All interfaces are shut down in the formerly active virtual switch member, but the new active virtual switch forwards
traffic on all links.

C. The switch continues to forward traffic out all links and enables spanning tree on VSL link and all other links to
prevent loops.

D. The VSS detects which system was last in active state and shuts down the other switch.

Correct Answer: B
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